Parts Information:
EA LE Variable Speed Belt Sander 400W/230V
Model No: SBS35

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10of 2 SBS35 Issue 2 PL 12/03/18



EALE

Parts Information:
Variable Speed Belt Sander 400W/230V

Model No: SBS35

Item | Part No. Description Item | Part No. Description

1 SBS35.01 LEFT HANDLE 33 | SWM8S SPRING WASHER M8 ZINC (SINGLE)

2 | SBS35.02 LEFT CAP 34 | SN8.SB STEEL NUT M8 BLACK (SINGLE)

3 | SBS35.03 BELT WHEEL 35 | SBS35.35 RD HEAD S/T SCREW M4X8 BLACK

4 | SBS35.04 FAN 36 | SBS35.36 RD HEAD S/T SCREW M4X10

5 | SBS35.05 FAN GUIDE 37 | MSP450.S MACHINE SCREW PAN HEAD PHILLIPS

6 | SBS35.06 CORD SLEEVE M4x50mm

7 | sBS35.07 SWITCH 39 | SBS3539 ARM

8 | SBS35.08 SPEED ADJUSTING LEVEL 40 | SBS3540 PULLEY

9 | sBS3509 BASE 41 | SBS35.41 AXLE

10 |B/62722 BEARING 62727 42 | SBS3542 ARM

1 | ses3sn DUST OUTLET - | SBS35.43 DUST BAG + CLIP (NOT SHOWN)

12 | SBS35.12 KNOB - | SBS35V2-30 SPRING (NOT SHOWN)

13 | sBs3513 ARM SET - | SBS35v2-31 SPRING (NOT SHOWN)

14 | sBs3514 TENSION ARM - | SBS35/B100GN SANDING BELT 100GRIT 8 x 456mm Pack of 5
(NOT SHOWN)

15 | SBS35.15 PULLEY

- | SBS35/B100GW SANDING BELT 100GRIT 12 x 456mm Pack of 5

16 | SBS35.16 PULLEY AXLE (NOT SHOWN)

18 | SBS3SI8 RIGHT HANDLE | SBS35/B120GN | SANDING BELT 120GRIT 8 x 456mm Pack of 5

19 | SBS35.19 WRENCH (NOT SHOWN)

20 | SBS35.20 FAN - | SBS35/B120GW SANDING BELT 120GRIT 12 x 456mm Pack of 5

21 | SBS35.21 ARMATURE (NOT SHOWN)

22 SBS35.22 FAN GUIDE - SBS35/B40GN SANDING BELT 40GRIT 8 x 456mm Pack of 5
(NOT SHOWN)

23 | SBS35.23 STATOR

o2 | B/60822 BEARING 60822 - | SBS35/B40GW SANDING BELT 40GRIT 12 x 456mm Pack of 5
(NOT SHOWN)

25 | SBS35.25 MOTOR HOUSING - | SBS35/B60GN SANDING BELT 60GRIT 8 x 456mm Pack of 5

26 SBS35.26 BRUSH (NOT SHOWN)

27 | SBS356.27 END COVER - | SBS35/B60GW SANDING BELT 60GRIT 12 x 456mm Pack of 5

29 | SBS35.29 RD HEAD S/T SCREW M4X13 (NOT SHOWN)

30 SBS35.30 RD HEAD S/T SCREW M4X16 BLACK - SBS35/B80GN SANDING BELT 80GRIT 8 x 456mm Pack of 5

31 | SBS35.31 RD HEAD S/T SCREW M4X13 BLACK (NOT SHOWN)

32 | spsasan RD HEAD S/T SCREW M3.9 X 32 BLACK - | SBS35/B80GW SANDING BELT 80GRIT 12 x 456mm Pack of 5
(NOT SHOWN)

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2

SBS35 Issue 2 PL 12/03/18




